/\\
HOLLAND HOUSE

22011-410 Nightstand
22011-404 Nightstand Piers including wall light
Thank you for purch'a'sihg this quality product. Be sure to check all packihg matetials carefully for small parts which may have
come locse inside the carton during shipment. ldentify and count all parts-and compare with the parts list below.

**Assemble the product ona ﬂa_t. soft surface such as a carpet-or cloth to prevent scratching the. finish. Read all instruction and
study the drawings carefully before starting the assembly process,

Hardwara list 1 (Enclosed in Nightstand )

TOOLS REQUIRED {NOT PROVIDEDY _ Step | Code T Hardware. '_'Q'-TY
. — : A. | Allen key 4mm ¢ | Lpc
PHILLIPS SCREWDRIVER | = S =l
C- | Spring Washer 5/18"x12mm & | Bpes
D | Flat Washer 5/16"x18mm @ | Bpcs
8 E | Fumiture tipping restraint @ 1 sat
Hardware llst 2 { Enclosed In Nightstand Piers)
Step | Code | ' Hardware 9w
A | Aflen key 4mm ' | ipc
5 ‘E | Bolt 1/4"x1<1/2" =i BpCs
G | Spring Washer 1/4” & lZpcs)
H | Flat Washer 1/4*x19mm @ |47 pes
I | Conpecting iron g3 | 2pes
10 . i —
1 | Boit 1/4"7/8" =9} 4:pes
Hardware list 3 (Enclosed in Nightstand Piers)
_Step | Code ___ Hardware ] QTY |-
4 K- 1 wall light 1 set

Cleaning Instruction Ciean finished parls with a mild dishwashing liquid and water salution on & damp cloth. Polish the
finish with soft cloth and-an industry récognized fumitire polisti, )
' ' ' ' ' ' ' ' Made in-Vietnam

1Paga1of4




. - A
HOLLAND HOUSE

Assembly-Instruction

22011-410 Nightstand
22011-404 Nightstand Piers including wall I|ght -

‘Thank you for.purchasing this quality product Be sure to. check all packing matenals carefuily for small parts which may have
come loose inside the carton during shipment. Identify and count all. parts and compare with the parts list below.
“*Agsemble the product on.a flat; soft surface such as a carpet.or cloth to prevent scratching the fi nish, Read all instruction and
study the drawings ¢arefully before starting the assembly process.

Bubble is not provided by factory

‘Please carefully, it
is easy brocken !

Step 5 Step 6

Cleaning Instraction: Clean finished parts with-a mild dishwashing liquid-and water solution on a damp.cloth. Polish the.
finish with soft cloth and an industry recognized. furnitiire polish,

_ _ Made in Vietnam
Page 2 of 4




HOLLAND HOUSE

22011-410 Nightstand
22011-404  Nightstand Piers including wall light

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small parts which may have
- come’ loose inside tha carton during shipment. Identify and count all parts and compare with the parts list below.

* Assemble the product en a flat, soft surface such as a carpet or cloth to prevent scralching the  finish, Read all instruction and
study the drawings carefully before starting the assembly process.

Nightstand
gt — | Nighsiand
connect "

Light-
.~ Gwitch

Cleaning Instruction; Clean finished parts with a mitd dishwashing liquid and walter solution on a damp cloth. Polish the
finish with sofl cloth and an industry récognized furniture pofish.

Made in Vielnam
Pace 3 of 4




HOLLAND HOUSE

22011-410 Nightstand
22011-404 Nightstand Piers including wall light
Tﬁank,you‘ for purchasing this quality product. Be sure to check all packing materials carefully for simall parts which may ha\}e
gome loose inside the carton during shipment. Idenﬁ_fy and courit all parts and compare ‘with-the. parts list below.

“*Assemble the product on a flat, soft surface such as a carpet or dloth to prevenit scratching the finish. Read all instruction and
- study the drawings carefully before starting the assembly pracess.

Wall light

gy Wall Light switch
/ Touch switch for
/ Nightstand LED.

Wireless charger

CIea_riiqg Instruction: Cfea'n ﬁr_ifshed parts with a mild dishwashing liquid and waler solufion on a damp. cloth. Polish the
finish with soff cloth and. an industry reécagnized furniture polish. L
. Made in Vietnam




HOLLAND HOUSE

Assembly Instruction
22011-220 5/0 ©  UPH Headboard
22011-221 5/0  Footboard wf Slats
- 22011-930 5/0-6/6 Side Rails. _ _
Thank you for purchasing this quality product, Be sure to check. all’ packing materials: carefllly-for-smail parts which may have
¢ome logse inside the carton during shipmant. Identify and count all parts and compare with the parts list below:.

*pssemble the product on a flat, soft surface such as a carpet orcloth to prévent seratching the. finish, Read all instruction and
study thig drawings carefully before stariing the assembly procass;

Hardware list 1 (Enclosed in Side rail)

Step | Code Hardware QTY |

T A [Alen key 4mm Eorme|  1PKCS

B | Balt 5/16x3/4" =mefi| Bpes

1 C. | Spiing Washer 5/16"x12min < | Bpcs

D | Flat‘Washer 5/16"x19mm © | 8pcs
Hardware fist-2 {Enclosed in Footboard)

Step | Code Hardwara QY

3 | E [Screw #8xi" ===y | 10pcs

TOOLS:REQUIRED (NOT PROVIDED)
PHILLIPS SCREWDRIVER | ===

Cleaning Instruction: Clean finished parts with a mild dishwashing liquid and water solufion on a damp-cioth. Foiist the
finish with soft cloth and-an industry recognized furniture polish.

o Made in Vietngm.
Page20f2:




HOLLAND HOUSE

Assembly Inst

ruction

22011-225 6/6 UPH Headboard
22011-226 6/6 Footboard w/ Slats

22011-930 5/0-6/6 Side Ra

ils:

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small parts which may have

come loose inside the cartan during shipmerit. Identify and countall parts and compare with the parts list below.

**Assemble the product on'a flat, soft surface such:as a carpetor cloth to prevent scratching the finish. Read all instruction and

study the drawings carefully before starting: the assembly process:

H’a‘rdware list 1 (Enclosed in Side. rail)
Step | Code Hardware QTY
A | Allen key 4mm: & | ipcs
- B Bolt 5/16x3/4" )| Bpcs
1 C Spring Washer 5/16"x12mm o | ‘Bpds
D. | Flat Washer 5/16"x19mm @& | 8pcs
Hardware list 2 (Enclosed [n Footboard)
Step | Code Hardware QTY
3 E |Screw #Bx1” ' ==y | 10pcs
TOOLS REQUIRED (NGT PROVIDED) ;
PHILLIPS SCREWDRIVER | —==

——
S

Cleaning !ns_trucﬁpn: Clean finished paris with a mifd dr’shwa_shfhg fiquid-and water solution on a damp cloth. Polish:the
finish with soft cloth and an industry recognized furniture polish.

Page 2 of 2

‘Made In Vietnam




